EKE (FERE)
| T ; Bl % E % & # @ @ HE#Kk | HE—8 | HE—8
5|15 E F | DREERE [ wkBsER BEE BAER EER s A O | BA#kE | BAEUKE
&% s 7
% =5 A) (m3) (m3)
- 1 |REHEE M37.6 54k H24.3(FE) | H24.3~H31.3| H.30 143, 256 78, 255 83,498
t =% 143, 256 78, 255 83,498
46 | KB UBET $35.3 24k H12.1 H25.3~H35.3 |  H.35 6,700 3,640 3,640
PET
t =% 6, 700 3,640 3,640
4 10 (LA H23. 4 24k H23. 3 H23.4~H29.3 |  H.28 46,500 28,040 | 28,340
WA
t =% 46,500 28,040 | 28,340
35 |SEHT $45 4 24k H1.3 H1. 4~He6. 3 H.9 30, 000 18, 600 18, 600
REHT
e &t 15 30, 000 18, 600 18, 600
(Ba) 4B 226,456 | 128,535 | 134,078
& 4 |mBEHh $3.7 6k H22. 3 H22. 4~H31.3|  H.30 312,600 | 150,500 | 181,670
mAt
t =% 312,600 | 150,500 | 181,670
16 |3 EF AT $38.2 BHL1ZE H29. 3 H29. 3 H. 29 41,700 21,200 | 23,140
FREFHT
t =% 41,700 21,200 | 23,140
21 |gAE AT $42.5 6k H26.1(E) | H12.4~H16.3| H.37 10, 800 4,900 4,900
IE| | #AEET
t =% 10, 800 4,900 4,900
£ gy 20 | 114 $43.4 M1 H23.3(@) | H12.4~H19.3| H.32 16,300 7,130 7,200
1
t =% 16, 300 7,130 7,200
mamh IS5 381,400 | 183,730 | 216,910
12 |ghpET $28.4 5412 H21.3 H21.3~H31.3|  H.30 207, 400 95,400 | 113,900
B | sEw
in
t =% 207, 400 95,400 | 113,900
- 15 |&ILTH $40.10 54125 H28. 3 H29. 7~H30.3 |  H.37 49,700 30,900 | 30,900
t =% 49,700 30,900 | 30,900
(D) PE €3 257,100 | 126,300 | 144,800
B/nat 105% 864,056 | 438 565 | 495 788
o 3 | H18. 1 BIRZEE H9. 3 H29. 4~H37.3|  H.37 278,396 | 134,400 | 223,449
t =% 278,396 | 134,400 | 223,449
INE 1E% 278,396 | 134,400 | 223,449
5 IRE-=3 1,143,352 | 572,965 | 719,237
5 |[fFEH s11.7 - H22. 4 H22. 4~H31.3|  H.30 95, 900 57,500 | 69,995
Bl ol pam
o t =% 95, 900 57,500 | 69,995
Al
e 18 |3 $40.2 e H26. 7 H26.8~H27.3 |  H.32 80, 500 34,300 | 37,900
IE|R| &EH
&t 1E% 80, 500 34,300 | 37,900
15
INE 2B 176, 400 91,800 | 107,895
= 2B 176, 400 91,800 | 107,895
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LkE (EAEE)
@ 7 ; Bl B E X% B #® 2 7 HE#K | HE—-B | #E-A
mlm 3 | B | bkEsma | exmmEs £x2 BAER 5 % 1M o4 A 0O | BrekE | BAEAR
2% & :
£ =5 (A) (m3) (m3)
8 |HRH HI7.1 Al HI7.1 HI7.1~H23.3| H.22 198,340 | 127,564 | 140,614
NG
3 152 198,340 | 127,564 | 140,614
CTEET $57.4 24t HI7.12()  |H17.10~Hi8. 11]  H.31 16, 300 8,660 | 10,180
X\
3 152 16, 300 8,660 | 10,180
gy | 18 [ $62.5 14k H23.1(@) | HI3.4~H23.3| H.32 23, 410 9,784 9,784
B
™ 3 152 23, 410 9,784 9,784
56 | K& BT H29. 4 Al H29. 3 H20. 4~H43.3|  H3o 9,580 5, 650 7,761
KEH
3 152 9,580 5, 650 7,761
N PE £ 247,630 | 151,658 | 168,339
9 o $28.5 Al Ho7.4 H27.4~H38.3|  H.37 129, 200 64,100 | 84,615
HEH
3 152 129, 200 64,100 | 84,615
o 37 |EsmEr $52. 1 S Hi6. 3 Hi6. 4~HI7.3| H.27 16, 400 9, 550 9, 550
| E AT
3 152 16, 400 9, 550 9, 550
36 |G $50.3 1% Ho8. 3 $62.10~$63.3|  H.37 13,200 8,300 8,300
A AT
2 3 152 13,200 8,300 8,300
57 |y H29. 4 Al H29. 3 H31. 4~H38.3|  H.32 8,340 3,786 4,174
ERHET
3 152 8,340 3,786 4,174
= 58 | K#2HT H29. 4 Al H29. 3 H28.3~H37.3|  H.37 8,834 6,310 7,762
N KACHET
3 152 8,834 6,310 7,762
2 |BWH T14.10 BHE1ZE H20. 7 H20. 7~H29.3 |  H.30 20, 000 32,000 | 49,000
_|
e 3 152 20, 000 32,000 | 49,000
24 |HREH 4311 34 H23. 3 H23. 4~H33.3|  H.32 57,000 35,400 | 43,400
EmET
3 152 57,000 35,400 | 43,400
N TEE 252,974 | 159,446 | 206,801
o
| ulrEn $37.4 1A% Ho7. 11 H.37 16,500 14,500 | 14,500
| mEH
* 3 152 16, 500 14,500 | 14,500
7 |42 dLEr $24.10 ME1E Ho7. 3 H27.4~H41.3 |  H.40 16, 800 14,800 | 14,800
 @emr
3 152 16, 800 14,800 | 14,800
N PE£° 33, 300 29,300 | 29,300
6 |MBH S 11 ME1E Ho5. 3 H25. 5~H25.8 |  H.27 13, 340 8,310 8,310
&3] EHmH
. 3 152 13,340 8,310 8,310
s | 55 [ERET Hi4 4 14k H13.3 H20. 6~H38.3 |  H.37 10, 540 6, 056 6, 662
Tl 1E% 10, 540 6, 056 6, 662
Ll
) 32 128y $55. 6 2E1ZE H24.1(R) | H24.2~H24.6| H.32 11,500 7,000 7,720
fo=HT
3t 152 11,500 7,000 7,720
N RE £ 35, 380 21,366 | 22,602
3t 165 % 560,284 | 361,770 | 427,132
ant 29F % 1,889,036 | 1,026,535 |1, 254, 264
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EoKE (EAREE)
mw| T |2 B — B & A B Kk 8 W R (m3/H) K - FREEsAK
i E 'I§ JR—— B kB K x HE#A | HE—A
%% & S L gHk | KAk | BHE | EHE B EEEYZK B K 5 |mkxgzel X O |BxéxeE
a2 |5 TEER | ke | 2kE A (m3)
IREE T 598 | 10,000 | 37,200 | 10,300 25, 400
4
B 1= 598 | 10,000 | 37,200 | 10,300 25, 400
46 | R UPET 3, 640
K URET
B 1= 3, 640
3t 10 [V 24,160 4,180
WA
B 1= 24,160 4,180
35 | ST 18, 600
REHR
i &t 1= 18, 600
@& e 598 | 10,000 | 79,960 | 10,300 | 4,180 29, 040
& 4 |mamm 101,470 80, 200
mAfmfm
B 1= 101,470 80, 200
16 |FREF AT 1,870 3,000 | 14,970 3,300
FREFET
B 1= 1,870 3,000 | 14,970 3,300
21 |2A BT 2,000 700 2,200
Iy EAE BT
B 1= 2,000 700 2,200
£ 20 |JIIj%ET 7,200
JII AR ET
B 1= 7,200
@A e 1,870 106,470 | 15,670 92, 900
s 12 |85 1,067 94,033 18, 800
#REET™
B 1= 1,067 94,033 18, 800
15 | 130 400 | 22,970 7, 400
sIH
B 1= 130 400 | 22,970 7, 400
(@D pE+3 1,197 400 | 22,970 | 94,033 26, 200
&|/nzt 0= 3,665 | 10,400 | 209,400 | 120,003 | 4,180 148, 140
o 3 |#w 42,223 | 32,000 | 19,757 | 2,053 127,416
B 1= 42,223 | 32,000 | 19,757 | 2,053 127,416
g 1=% 42,223 | 32,000 | 19,757 | 2,053 127,416
B e 45,888 | 42,400 | 229,157 | 122,056 | 4,180 275, 556
5 |rE 1,665 | 42,206 801 | 24,740 583
Bl ol pam
” B 1=%| 1,665 | 42,206 801 | 24,740 583
=]
- 18 | & 24,400 | 13,500
G| &3S
st 1=%| 24,400 | 13,500
3
Nt 2% 26,065 | 55,706 801 | 24,740 583
B 2% 26,065 | 55,706 801 | 24,740 583
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LkE (EAEE)
mw T | HE — B B K N K E KR R (m3A) 2K - TR s K
i E 'I§ JR—— B kB K x HE#A | HE—A
%% & S L gHk | KAk | BHE | EHE B EUEK B K 5 |mkxgzel X O |BxéxeE
a2 |5 TEER | ke | 2kE A (m3)
8 bR 5,814 | 10,000 | 50,500 500 73, 800 R| Z&E 74 22
N
st 1= 5,814 | 10,000 | 50,500 500 73, 800 74 22
0 43 | B HT 500 3,630 6,050
2T
st 1= 500 3,630 6,050
48 |BAFNAT 6,984 2,800
BAFNET
5 % &t 1= 6,984 2, 800
56 | A& T 6,081 1,680
KEH
st 1= 6,081 1,680
g 4% 12,395 | 10,000 | 54,130 | 7,484 84, 330 74 22
9 |pEE 5,315 | 42,000 37, 300
REm
H 1= 5,315 | 42,000 37, 300
37 | EfhAT 9,050 500
B FET
H 1= 9,050 500
36 |RIREET 8, 300
EIAR ST
2 H 1= 8, 300
57 |EE AT 1,749 1,925 500
ERHET
H 1= 1,749 1,925 500
& 58 | 42T 3,338 4,424
Iy KACHET
H 1= 3,338 4,424
2 |BWH 29, 000 20, 000
_| Bm
= 3 E£3 29, 000 20, 000
24 | EEEH 33, 400 10, 000
HET
H 15| 33,400 10, 000
g 72| 33,400 | 5,087 | 5,315 | 85,649 | 9 050 68, 300
T [u]ees 10,000 | 4,500
| RE
" H 1= 10,000 | 4,500
| o 7 |424LEr 14, 800
’ 1% % 14, 800
INEt = 10,000 | 19,300
6 |#EZ 2,949 | 5,361
&l EHmH
H 1= 2,949 | 5, 361
#z
55 | 460K T 6, 662
{035 T
H 1= 6, 662
3l
32 |42 AT 7,720
AT
st 1= 7,720
INEt R+ 7,720 | 2,949 | 12,023
&t 163%| 33,400 | 25,202 | 28,264 | 171,102 | 16,534 152, 630 74 22
o 29%2| 59,465 | 126,796 | 71,465 | 424,999 | 139,173 | 4,180 428, 186 74 22

XALEGZBBE OWMRT IHEFITRCIBIXEAEO [9) LF, tHOKEEE~ADHK, TR LIZEEOTRREANDIEKELS,
Fiz, HEHAKAD, FHE1BHRRHEKEE. SHKESEOREEONE.
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